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Precalculus Name: K&y
Ch.5 Test Review #3 Date: Period:

1. Given that angle A 1s in Q III with sin 4 = —%, angle B 1s in Q IV with tan B = —%, angle C 1s

: . 13 . . .
in Q II with csc('= o find each of the following. Assume each angle is in the interval [0,27)

a) cos(A+ B) b) sin2B
-2
3¢ Vg — 40
/681 </
c) cos£ d) tan2C /20
2 (2B Z;
13
. ) sin(B-C)
e) sin—A
2 su/al -23Uq
= 533
1 h) cos2A4
g) tan—B
2 V- ~1579
-S 1681
2. Find all solutions in the interval [0,27{) for:
a) cos2x=11cosx+5 b) 3sinx=cos2x+]1
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1. Given that angle A 1s in QIII with sin 4 = —%(%, angle B is in Q IV with tanB = ~%, angle C is

‘2 in QII with ¢scC = g find each of the following. Assume each angle is in the interval [0,27)
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~ 40 B il -5
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a) cos(4 + B) CDSA-CO)S 3706-5‘)03

=% _ 200
)(y;,) - (7% d«?}) W) e
= -23¢  Jy - |-23¢ /%
o V%7 Jai /68)

b) sin2B = 25/NBLosp

’2(5;)(#/) -_‘@

c)cos = ‘/H-cosC- l//-}-_r H-‘-" (//3
2

+ It isgiven hat ¢ is in Qo

T -
EX yi <Ceaq = X1 = ﬂ:_&-,_ﬁg
W%LA L U%”B B B Uiz

A % >3
9 2
Y 0L isin @F = (203
X Cosine posin QI /3
d) tm2C = 2tane -~ 2l1E) - '”5 e
1= tan 2¢ 1= (12 - ey -pq
a5 25
= -u.&s = =]20 =|/20
S -9 =19 "9
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awis =+ [E2P = +[3 - 4| Z - |[F
2
¥Itis given tat A is in aOT

T
s| “A Eéﬂ‘é— L =d.3=_§.,@ 1—5_\)‘4'
177\7 2 2 (zr)z Vel V4l Ve Hi
lr

3w

] JZI_L%A;ET

X SO éi;in Q2

¥ 3ipe pos in 02

f) sin(B-C) = s,nBe0sC - cosBsinc

- (B)E) - (E)R) =% T

-23 Vg = -2302‘7

13Vl U< 533
1 ﬁ' Vaqr -4
g)tanEB = 1-€3B - 1—Ua = TG = Vai-y Vg
3in® 5 - Ut =5
v4) _U%i ——
= |Var -y
-5
h) cos24 = 20ps% A -|
= g ¢ > = 2—’ - = -l—é——% e -}-gl
2( < L = 2 ( ien? ! 1631 /e8!

SLEly
1681
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2. Find all solutions in the interval [0,221') for:
a) cos2x=11cosx+5 % Double Anglkk Formula

———

2005%X -1 = |l CoSX +5
2005%X -] —1l1CosXx-5=0

2 0SSt X =]ICoSX =6 =0 2x2—=)) X =(
(Qcosx+1)( osx—=¢) =0 (2X+() (X~-C)

A .‘ICQSK+I"O Cos x-¢ =0
c. Cosx = Los xX=¢

no solvhiom
JB! E | %
0

|-.
X= :%r_| X= 47

3
b) 3sinx=cos2x+1 % Double.- Angle focmuia
35X = 1-23n *X +1

230X +35)nX -2 =0 2AY2+3X-2
(2Sinx-1)(SinXx +2) =0  (2x-1)(Xt2)

25inx -1 =0 Sin¥+2 =0

'!‘1'|C s'nx = X SinX=-

Nno sslufjon
!
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